
A-2

6x RYSB
M6x20

6x M6
Y.Rondela
S.Washer

A-1

B-1 C-1 D-1 E-1

1x YHB
M5x15

12x SV/12
3,5x16

4x YSB
M6x60

110

A

C

B

E
D

• BAĞIMSIZ KÖRKÖŞE MEKANİZMASI MONTAJ ŞEMASI
• INDEPENDENT SECRET CORNER MECHANISM MOUNTING INSTRUCTIONS

(SOL)
(LEFT)

S-3005- S-3007- S-3009- S-3111-

5

min 600

400

min 530

min 650

A

B

C

D

E

30

min 600

450

min 530

min 700

50

min 600

500

min 530

min 750

85

min 600

550

min 530

min 850

staraxaccessories starax staraxofficial www.starax.com.trstarax ISO 9001

�������������
���

������
�������� ������



B-1 C-1 D-1 E-1

110

A

C

B

ED

1x YHB
M5x15

4x YSB
M6x60

A-2

6x RYSB
M6x20

6x M6
Y.Rondela
S.Washer

A-1

12x SV/12
3,5x16

• BAĞIMSIZ KÖRKÖŞE MEKANİZMASI MONTAJ ŞEMASI
• INDEPENDENT SECRET CORNER MECHANISM MOUNTING INSTRUCTIONS

(SAĞ)
(RIGHT)

staraxaccessories starax staraxofficial www.starax.com.trstarax ISO 9001

S-3005- S-3007- S-3009- S-3111-

5

min 600

400

min 530

min 650

A

B

C

D

E

30

min 600

450

min 530

min 700

50

min 600

500

min 530

min 750

85

min 600

550

min 530

min 850

�������������
���

������
�������� ������


